FgArea: [0 ]
NC11 P3-15
2025-04-05 (Day 5)




700

600

500

400

300

200

100

N/ /
\V
[V

T T
1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0
d




VN

T T T T T T

o o o o o o o
[=} T o Lo o o

™ N N — —

5.0

3.5 4.0 4.5

3.0

2.5

2.0

5

1.

0

1.



1 0IR

—O—

0.7 -
0.6 -
0.5 -
0.4 -

R I e e

0.2 A

0.0

5.0

3.5 4.0 4.5

3.0

2.0 2.5

5

1.

0

1.



o ® 1 VI vs Du
700 -
600 -
500 A
400
300 -
[ ]
200 - T T T T T T
1600 1800 2000 2200 2400 2600

DU




FR

0.5 -
0.4 -
0.3 -
0.2 -
0.1

5.0

3.5 4.0 4.5

3.0

2.0 2.5

5

1.

0

1.



5.0

4.5

2.0 2.5 3.0 3.5

1 setVI
5

1

—0—
T
1.0

120
100 -
80
60
40 -
20



1 (fgArea = NA)

2800 -

2600

2400

2200 -

2000

1800 ~

—@— ECI*10%

ECO

1.

0

1.

5

2.0

2.5

3.0

3.5

4.0

4.5

5.0




—@— PHI*10%
—0— PHO

1.0 1.5

2.0 2.5 3.0 3.5 4.0

4.5

5.0




3500

3000

2500

2000

1500

1000

500

Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

[' EcFgro’

"EcFzExp!,

"EcPltng’] is misqing

0 25

50

75

100

125

150

—
+

175

ECdef
water_ec |




Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 - —@— ECopt

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

2900 —&— ECO
2800
2700
2600
2500 - Warning: col ["FMOEC'] is missing
1.I 5 2.I0 2.I 5 3.I0 3.I 5 4.I0




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

—@— PHI

Warning:

col ['PHC', "FVIPH' ] is missing

1.

0

1.5 2.0 2.5 3.0 3.5 4.0




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

—@— PHO

Warning: col

[FVOPH'] is missing

1.0

1.5

2.0 2.5 3.0

3.5

4.0




Trend plot forP3-15 0

minFVI
minFVO

Warning: col [’miriFVIraw', "minFVOraw' ] is missing

1.4 -

® ETcAlraw @
——  ETcAT
1.2 4 —@— ETcA

Warning: col [’ ET<:A2raw’, "ETcA2'] is missing

0.0 0.2 0.4 0.6 0.8 1.
10 1 1 1 1

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

2750
@ @ @ @ @ @ @ @ @ @ L ey |
2500
2250
@ @ @ @ @ @ @ @ @ @ | |
2000
1750 4 @ @ @ @ @ @ @ @ @ @ @
1500 + —@— ECopt
—0— ECI
1250 ~ —-@— ECO
: 1 1 1
7.01 —_@— PHopt @ @ 4 @ @ @ L 4 L 4 L 4 4 4 4 4 @ @ @ L 4 o——

TR = A S S S S —

"] is missing
o o o C C C O O O O o o o C C C O O

Warning: col ['PH
6.5 @ @ @

31.5 1 —@— WCperM
31.0
30. 5

30.0 @ @ @ @

29.5

29.0

———————— e |-

Warning: col [ WCdeeraw', "WCperMavg'] is missing
28. 5

0.50 p—@ @ @ @

0. 45 -
0. 40
—@— minDeltaM
0. 35 + —@— avgDeltaM
—@— stdDeltaM
0.30 @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @
0. 25

0.20 p—@ L 4 L 4 L 4

30 p—@ @ @ @

—0— maxM
98 —&®— minM
26
. 4 L 4 L 4 L 4 . 4 @ @ . 4 @ . 4 L 4 L 4 L 4 L 4 . 4 @ @ . 4 @ . 4 L 4 L 4
24
22

20 p——@ L 4 L 4 L 4 \ 4 \ 4 \ 4 4 4 4 L 4 L 4 L 4 4 \ 4 \ 4 \ 4 4 4 4 L 4 o——

adjFVOR

-0. 02 ~

e et T . i st T . sttt o ate

0. 04 1 Warning: col [’ ad_IFVIRraw’ . "adjFVIR", "adjFVORraw'] is missing
]

—0— LAl

58 A

57 -

56

55

54 -

53 A

52 A

[, ) S S M (U ME—— S——

10 15 20

o postFgEtraw
200 1~ —@— postFgEtavg

—@— postFgEt
175 1

150
125
100

75 -

50 -




100

FgDaily

o
@

- 60

- 40




500

400

300

200

100

300

250

200

150

100

23 1

22

21

20

19

18

17

450

400

350

300

250

340

320

300

280

260

240

220

200

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

350 -

300

250

200

150

100

P3-15_0

e —
/
/
e -/
S -
.
o T \/ —

—o— PPFD

\
\.\/
N
N
N
\\\//%P\\.'
AN
N\
N\
—8— RH ’
/
N
\l/
\




1.0
0.8
0.6
0.4
-0.2
-0.0

913 #°P1°13 d°13 1d°l13 s!|2]3 oS3 013 !leq]3 yd adnd NA



500 -

400 -

ETcl

300 -

200 -

1600 -
1500 -
1400 -
1300 -

ETol

1200 -
1100 -
1000 -
900 -

23 A

22 A

21 -

= 20 +

19

18

17

60. 0
57.5 A
55.0
52.5 A

RH

50.0
47.5
45.0

42.5 -

300 -

250 -

VN

200 ~

150 ~

100 -

340 -
320 -
300 -
280 -
260 -
240 -

220 A

200 -

200

°
°
oo o
T T
® °
[
T T
300 400

ETcl

° ° ° °
° ° ° °
° ° ° ) ) °
° ° °
° ° i i °
° ° °
° ) °
. - -
° °
° e 7 °
y ® o oo % i i .&3
° i i °
°
° i e
T T T T T T T T T T T T T T
° i i °
° ®
® °
° o ] °
° ° - - °
R i i
® Y e L —He E ® ®
° g . 1®
o e@ e o e0 0 10
® i Jle
° e ) °
® ° i i
T T T T T T T T T T T T T T
° °
° ® °
° i e
° ° . . °
° ° |e |
° ° i i
FC °® ® ® e | i
e © [ @
° ° i i
. - -
T T T T T T T T T T T T T T
1000 1200 1400 1600 18 20 22 45 50 55 60 100 200 300 200 250 300 350
ETol T RH VN



hour

145

:30

:15

:00

:50

140

145

%,
&

100

80

- 60

- 40

§_

%

Q)

)_{?
5

N
-
4
%

%
L
—&&

Y

2
%
.

%5

2
>
L

&

£

%
o
%

)
-

4@

&%‘ %‘ P

%



P3-15

BriE) | EBIETK FD) | EE (EH/HK) | XK ERE

06:40 106 50.0 i FEA@06:40 (K FIERESE)
07:25 106 50.0 i) FiHA@07:25 (RAEEEE)
08:50 106 50.0 i FnHAe08:50 (KRF{ERLEE)
09:55 106 50.0 i FiEA@09:55 (K FIERESE)
10:45 106 50. 0 R FHRe10:45 (KRFERES)
11:30 106 50.0 i FEA@11:30 (KRAERSE)
12:15 106 50.0 i FifA@12:15 (KRPBIERSE)
13:00 106 50.0 5 ¥iHAe13:00 (KRF{EREE)
13:50 106 50. 0 A FEA@13:50 (KR AIERSE)
14:40 106 50.0 i FifA@14:40 (KRPERSE)
15:45 106 50.0 [ FiEA@15:45 (KRPHERSE)
23t 1166.0 (11)%) 550. 0 32 F%KEC: 1560.0, PH: 5.8

[E&EC 2570.0 K&, ZEILFAKECHE&idEE R



FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=5 (2025-04-05)

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET | 800
670 —~

06 - 600 ©

E
0.4 317 400

44
0.2— - 200
00 00
a).o— Lo
4

FRV

TargetEC=1200. 0,  TargetSetEC=1560. 0

TargetPH=6. 5, TargetSetPH=5.8

0.0

=1
o
o
o

100 A

T
(=2
o
(=}

N
S
S
cumET (ml/plant)

75 | ByWoFv @D5 q2:58: ET=317 Fg=550.0 Ro=205.0 *——0—0——0—9

50 A

1
1
I
1
25 - !
— —— 90— 0—0—0— II
1.0

0.8 4 8 g g i i g g i i g B i 5 5 i 5 5 5 B 5 5 5 B 5

Illlf/
1
N
o
S

0.6 1

0.4+

0.2~

800 {
600 -

400 -

200 ~

0 \ A A Warking:,fol [Al o

"PPFD_obs’] is missing

25 A
20 A

15

10 Warning: ' , 'To obs’'] is missing

Warning: lcol ['RH obs’, 'RHo obs’] is miss]

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0




hour

6:45

7:45

9:40

10:50

11:55

13:20

14:35

100

80

- 60

- 40

20



P3-15

BfiE) | FEBIETK (FD) | E=E (EH/) | XK R

06:45 210 50.0 (&= BRi%@06:45 (KRF1EREE)
07:45 210 50.0 (&= BRi&@07:45 (kRF1EREEE)
09:40 210 50.0 ] B1%@09:40 (KFERHE)
10:50 210 50.0 ] 21£010:50 (RFERE)
11:55 210 50.0 ] Bi&@11:55 (REERSE)
13:20 210 50. 0 iz Bi1%013:20 (KRFERE)
14:35 210 50.0 |Z= Bi%014:35 (REERE)
23t]1470.0 (70%) 350.0 ZWHKEC: 1560.0, PH: 5.8

EORFEBETC (210. 0) 5FHA (102. 0) 7

ZRIASLPRIERE103. 0 ml.

[@;%EC 2480.0 K5, ZEiHBIKECAEZ hiERR

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

40

20

100

50

158

100

50

158 3

100

50

1.0

0.8

0.6

0.4

0.2

0.0
1500

1000

500

60

40

20

P3-15_0, Day=4 (2025-04-04)

Wb, VEPFRV, ET ~ VI, VO, FVI, FVO, FRV, ad jFRV, ET 805

] 670 W21
00 00
1 41 19
I Warning: lcol [FVI',| "FVO’'] missing I

( o v — ME

i Warning: lcol ["WC1',  "WC2'] missing
TargetEC=1200. 0,  TargetSetEC=1560. 0
i Warning: lcol ['ECB’,| 'ECC’'] missing
TargetPH=6. 5, TargetSetPH=5. 8
i Warning: lcol ['PHB’,| 'PHC’'] missing
] I
Bylnit @D5 92:58: ET=245 Fg=400.0 Ro=144.0
| :
1
|
| 1 @ = @ © @ = @ ©
: o—& S =] @
1
- ———— _ Aaa——
1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
=z|2=|2=| B | B[ B | BB | B | BB | B[ B | M 5 5 B 5 5 5 B 5 5 5 B 5
1
4 ByEt @D4 18:07: ET=309 Fg=721.0 Ro=nan q @ @ @ @ @
|
] 1
; —@ @ \ 4 @ ©
. S S S— — HE—
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
=25 |55 B |25|8=25|2=|2=( BB | B | BB | BB | B | &= |85=|2=525] B 5 5 B 5
1
4 ByWoFv-@D5 92:58: ET=212 Fg=350.0 Ro=143.0
|
. : & L & e & = & ©
1 —& @ L 4 ® ]
1
 — —— -
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
12=|1%2=2=| BB |2=|2=5|25|18=(2=| B | BB [ BB | BB | BB [2=x|8=|&2=2=5=| B 5 5 B 5
A —

[ ] | _obs
—@— PPFD obs

—_ T

® To_obs

—— RH
1l @ RHo obs'ning: lcol ['RH obs’] is missing

1000

- 750
- 500

- 250

0
- 1000
- 750
- 500

- 250

0
- 1000
- 750
- 500

- 250

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=485, FV0=0 m=575, FV0=0 m=630, FV0=0
30.5

30.0 - —o— ME —o— ume | 3057 —e— ME
30 -
29.5 30.0 30.0
29.0 -
29 1 29.5 29.5
28.5 -
29.0 -
] 29.0 -
05 28.0
27.5 28.5 -
- MNE 28.5
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
30.5
- MNE - ME - MNE - MNE
30.0 - 30.0 30.0 -
30.0 -
29.5 - 29.5 1 29.5
29.5 -
29.0 - 29.0 1 29 0 -
29.0 -
28.5 - |
285 - 28.5
28.5 28.0
26,0 28.0
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
34. 25 -
—-— MW 35.5 —-@— MW
34. 00 35.5 -
33.75 4 25,0 35.0
33. 50 - 245 34.5 -
33.25 -
34.0 1 34.0 -
33.00 - F—
T T T T T T T T 33 5 T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
34. 50 - —o— W¥ | —o— MW —0— MW | 345 —— MW
34.75
34.5
34. 25 - 2450
34.0
33.75 7 34. 00 1 535 -
33.5 :
33. 50 - 23 75 -
33.25 1 33.50 - 33.0 - 33.0 -
690 695 700 720 725 730 810 815 820 870 875 880



hour

100
145

105

80

130
- 60

145

:55
- 40

:50

§_

:50
:00

I I I I I I I

(PR, SN S . R
5 QS S R 2 3
FEFFIFITFFETF S

T

o
-



P3-15

AYiE) | EBIAT (FD) | EBE (EH/HK) | XKR EFRF

06:45 210 50.0 |Z= B1%006:45 (KRFERE)
08:05 210 50. 0 i 1iRi1%@08:05 (K FAfER%=%)
09:30 210 50.0 5 ’R1%@09:30 (KkBfERE)
10:45 210 50.0 5 B1%010:45 (RREERE)
11:55 210 50. 0 i RRi%@11:55 (K BERKSR)
12:50 210 50.0 i BRi%@12:50 (FKPAIERSE)
13:50 210 50.0 (&= RRi%@13:50 (FRAHIERLEE)
15:00 210 50.0 |Z= BRige@15:00 (KPHEREE)
=21t 1680.0 (8X%) 400.0 3283 %EC: 1560.0, PH: 5.8

EORFEBETC (210. 0) 5FHA (106. 0) 7

ZRIASLRRIERE99. 0 ml.

[@);%EC 2685.0 K5, ZEiHBIKECAEZ hiERR

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

P3-15_0, Day=3 (2025-04-03)

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
40 - - 1500

- 1000
20 A

FRV (ml d-1)

00 - 500

70 44
22?22 Warning: lcol ['FVI',| "FVO'] missing

( o v

FRV
100 A

BO fm e e e

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1560. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0 ] 1000
Bylnit @D5 92:58: ET=260 Fg=400.0 Ro=159.0

100 4 - 750

- 500

50 -

- 250

ET (ml/hr/plant)
cumET (ml/plant)

il

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23 F fo00
W | W Z=| W | [ | [ w | | m | w | w | m | w5 | w5 [ 03[ 03[ WA [ BA [ m [ w || ®

]
100 1 ByEt @D3 18:10: ET=205 Fg=693. 0 Ro=nan &—o 0: e © e e o

l

I

I

- 750

- 500
50 -

® L 250

ET (ml/hr/plant)
cumET (ml/plant)

0_d4  a— 9
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1000
BB | BB | 25|25 | 25|25 (2|25 B | B B 5 ERE R ERERER ERA E AR EAERAERRAEAERS
1
100 1 ByWoFv @D5 (?2:58: ET=244 Fg=400.0 Ro=168.0

- 750

- 500

50 A

ET (ml/hr/plant)
cumET (ml/plant)

1'0_d#

I

0.6

0.4+

0.2~

0.0

—_— 4
[ ] | _obs

—@— PPFD obs

1500 ~

60

40 -
RH

[ ] RH_obs
2004+ @ RHo_obs

3_
’." e v f#
P, 2
. Yk S

hour



m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

30. 5 - — WE| ., o— me | 3057 o— wE | 305 o N
30. 0 -
30. 0 - 30. 0 -
29 5 29.5 -
29.0 - 29.0 - 29.95 1 2951
28.5 7 28.5 - 29.0 - 29.01
28.0 -
28.0 - | 28.5 -
27.5 - 28.5
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
30. 5 -
o— e | 305 o— meg | 300 o— e | 300 — N
30.0 -
30.0 - 29.5 29.5
29.5 -
29 5 29.0 - 29.0 -
29.0 -
28.5 - 28.5 -
29.0 -
28. 5 -
28.0 - 28.0 -
28.5 -
28.0 -
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
36
—o— MW —— MW —o— MW —— MW
i 35. 00
35.0
35. 5 -
35 34.75 -
34 5 . 35 o _
34.50
34
34.0 - 34.5 - 34. 25
i 34.00
33 33.5 34.0
T T T T T T T T T T T 33 75 - T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
35. 5 - —— MW —— MW | 3454 - MW —— MW
34.5 -
35. 5 -
35.01 34.0
34.0 -
34.5 35.04
33.5 -
33.5 -
34.0 34.5 4
33.0 -
s 33.0 -
-9 7 34.0 -
T T T T T T 32 5 T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
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P3-15

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

07:00 900 50.0 |Z= 1iRi1%@07:00 (K FH{ER%=2)
08:00 900 50.0 R ;R1%@08:00 (K FAfEEE)
09:25 900 50.0 5 B21%@09:25 (KFERH:E)
10:40 900 50.0 R B3i%@10:40 (KAERE)
11:35 900 50. 0 i BRi&e11:35 (RAERE)
12:25 900 50.0 i BRig@12:25 (kPB{EREEE)
13:15 900 50.0 i BRige13:15 (kAfEREEE)
14:05 900 50.0 5 B1%014:05 (REERE)
14:55 900 50. 0 i 1RRi%@14:55 (K BERKS)
2311 8100.0 (9%) 450.0 323 KEC: 1560.0, PH: 6.0

EOREBRTK (210. 0) 58 (98. 0) 1" FF, FIREHR T % MEEZRSE XER

ZRIASLPRIERE107.0 ml.

[@;&EC 2900.0 K5, ZEiLHBIKECAEZ hiERR




P3-15_0, Day=2 (2025-04-02)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1587
454 | 1500
40
L 1000
740 838
20 80
1ol 500
157 Warning: col ['FVI',| "FVO'] missing 22?22
0 4 - 04
600 4 mmm vI — ME P
FRV maxM | 32
400 "
F30 =
2001 = 08
T+ - O "~ - 26
4
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2908 —,
TargetEC=1200. 0, TargetSetEC=1560. 0 —>—  ECB*10%
2000 - e
1800
1600 - Warning: lcol ["ECC'] is missing
65 TargetPH=6.5, TargetSetPH=6.0 %—  PHB*10% [t
X VA VI VS VR VIV SS— VIR V—
604+—mm— | SR G A ———————
Warning: lcol ['PHC'] is missing
5.5
1
600 4 Byinit @D5 02:58; ET=254 Fg=260.0 Ro=0 #2000
: L 1500
400 - :
I L 1000
1
2 . 1
00 : L 500
: EE.,—EQ%_H'.** —o—@® @ e o o o
0k = P~ & P~ = = — 0
0 1 2 3 4 5 6 7 ) 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 | 17 [ 18 ] 19 | 20 | 21 | 22 | 23 [ 9000
00 TZ =7 | #s | #5 | A& | A& | s | Fm | FA | PA | @A | #5 | Rs | A& | s | Fm | FA | FA | #A | #s | Rs | A& | A& | Fm
1
400 ByEt @D2 18:08: ET=358 Fg=145450, Ro=nan © 0: e & e & © - 1500
1
I L 1000
1
200 - I
00 I L 500
o—e—o—o—0—o
ok = P = P~ = % - 1 0
0 1 2 3 4 5 6 7 ) 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 | 17 [ 18 ] 19 [ 20 | 2T | 22 | 23 [ 9000
0TZZT® [ B | B |k | k& | /% 52| & | & | B |k |k |k |B|R|B|B |k |k |k|&]|E]| R
1
400 ByWoFv @D5 02:58; ET=272 Fg=450.0 Ro=191.0 - 1500
1
I L 1000
1
200 - I
1 - 500
e o e o
’ R T e e SR A (M S
1.0k P~ P~ & P~ = % 0
0l 1] 21 31 41|51 6] 71819 [10] 11 [12]13] 141516717 181920721 [ 22 23
0o lBZ| T | W | | M | R | % |Bn| R | | M | R | W | M | R | P& | RE | e | m& | RE | & | M | R |
0.6 -
0.4
0.2
0.0
—_— 4
1500 ~ o | _obs
—@— PPFD_obs
1000 -
500 -
0
7 4
20 [ ] T obs
(] To_obs
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e v P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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28.
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32 A

31 4
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29 -
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M_E

4é5 450
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—o— M_E
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6é5 6&0
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i
i

8%5 8é0
m=440,n FV0=0
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29. 00 ~

28. 75 A
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m=630, FV0=0

35. 50 A
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T T
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T
870

T
875 880

34.

33.
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33.
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m=690, FV0=0
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T
690

T T
695 700

m=940,m FV0=0

33.5 -

33. 0 -

32.5 -

32.0 -

—— MW

T
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34. 4 —— MW
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T T T
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P3-15

Bfig) | JEBEATIC (FD) | EBRE (BFH/HR) | XS EFE

06:50 120 50.0 1] BR1%@06:50 (K BfERE)
08:10 120 50.0 ] B1%@08:10 (KRERHE)
09:35 120 50.0 ] 1i1%@09:35 (KAL)
10:55 120 50.0 ] B1%@10:55 (KRFERE)
12:40 120 50.0 |Z= Bi%e12:40 (KRAERSR)
2it| 600.0 (5)%) 250.0 3ESUHKEC: 1560.0, PH: 6.0

ERGEBIRTC (240. 0) 5F7HA (91. 0) N9, A REHRT % MMREEIRS 2 XER
ZRIASLPRIERE132.0 ml.

M R i3k B RECERE Tk .

[Bl7&EC 2900.0 K&, EiXFKECAE&dikE R
RERFEBL I HEREC/PHERR K, AIREINIEEDRK
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P3-15_0, Day=1 (2025-04-01)

_____________________________________________________________________________________ - 1000
VI, VQgBRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 85858
- 740
F 750 ©
80 -
- 500 =
| =
00 162 250 L
Warning: lcol [FVI',| "FVO'] missing
00
- 02
4 mm v — ME #
FRV maxM
- 30
T (NN
El
g S S —— 4 - 28
- I R |
] 26
TargetEC=1200. 0, TargetSetEC=1560. 0 —¢  ECB*10%
- K ——¢——X
i Warning: lcol ["ECC'] is missing
TargetPH=6.5, TargetSetPH=6.0 —%—  PHB*10% [
WA —>¢———X
Warning: lcol ['PHC'] is missing
| "
N : - 300 2
ByWoFv @D5 q2:58: ET=162 Fg=250.0 Ro=102.0 i:_
] - 200 >
1 E
| 5
1 - 100 €
) 3
i
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
12zc12=|25(Z=| A | BH | BB | BA [ BB | B | B [2=5|5=|Z2=l B | B | 2R 25|82 25125] B 5
—_— 4
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m=480, FV0=0 m=570, FV0=0 m=630, FV0=0

31
—&— ME 28 50 - —— ME —&— ME 30. 5 - —&— ME
29.5 -
30 - 28.25 A @ | 30.0-
29.0 A
28. 00 A 29.5
29 +
27.75 A 28.5 290 -
28 - 27. 50 A 28.0 - 28.5 1
27. 25 A
28.0 A
T T T T T T T T 27 5 T T T T T T
500 600 700 800 900 480 485 490 570 575 580 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
31.0 A 31.0 1
30.5 - —o— ME ' —o— ME —o— ME —o— ME
30.5 A 305 -
30. 5 A
30. 0 _
30.0 30. 0 A
30. 0 A
29.5 - 29.5 A
29.5 A
29.0 - 2997 29.0 -
29.0 A
| 29.0 - 28.5
28.5 28.5 A
28.5 A 28.0 -
28.0 - T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=480,m FV0=0 m=570,m FV0=0 m=630,m FV0=0
33.00 1 —o— MW 36.0 4 —o— MW
34.5 - @ :
32. 98 A
35.5 A
32. 96 A 34.01
® MW 35.0 A
32. 94 A 33 5 34 5 -
32.92 - 340 -
33.0 ~
T T T T T 32- 90 L T T T T T T 33' 5 - T T T
500 600 700 800 900 480 485 490 570 575 580 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
36.0 - 36.5 36.5 -
’ -@— MW - MW -@— MW -— MW
36. 0
i 36. 0 A
35. 5 1 36.0
35.5 A 25,5
35.0 ~ 35.5 A .
' 35.0 A
35.0 A
34.5 - 35.0 1 34,5 -
34.5 A
34.0 - 34.5 - 34.0 -
34. 0 A
33.5 T T T 34.0 T T T 33.51 T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880



